
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Arithmetik der ganzen Exponenten

(−5) − (−6) =3 (−4) − (−3) =2

(−9) + (−8) =2 3 − 9 =2

3 + 9 =3 (−9) + (−6) =0

(−6) − (−2) = (−8) + 10 =2

(−4) + (−4) =3 10 − 1 =3

7 − 7 = (−6) − 7 =2

4 − (−4) =2 (−5) − 10 =0

(−9) − (−2) =3 (−7) − (−6) =

2 − (−6) =3 (−3) − (−6) =2

(−6) − (−7) =0 5 − 8 =3
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Arithmetik der ganzen Exponenten

(−5) − (−6) = (−119)3 (−4) − (−3) = 192

(−9) + (−8) = 732 3 − 9 = 02

3 + 9 = 363 (−9) + (−6) = (−5)0

(−6) − (−2) = (−4) (−8) + 10 = 742

(−4) + (−4) = (−68)3 10 − 1 = 9993

7 − 7 = 0 (−6) − 7 = 292

4 − (−4) = 202 (−5) − 10 = (−9)0

(−9) − (−2) = (−727)3 (−7) − (−6) = (−1)

2 − (−6) = 143 (−3) − (−6) = 152

(−6) − (−7) = 80 5 − 8 = 1173
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